Exercise 1:

1. Express the following quantities using the prefixes and the unit abbreviations.
For example, 10000 meters = 10 km

a. 1000 000 watts b. 0.002 gram c.3 x10° meters d. 30000 seconds.

prefix exponent number

tera 10" 1,000,000,000,000
giga 10° 1,000,000,000

a) 1000 00O watt e
kilo 10° 1,000
(base) (base) 10° 1
deci 107 0.1
6 centi 102 0.01
l milli 103 0.001
x \ D V\} —_— ' micro 10¢ 0.000001 _
- 10°? 0.000000001
pico 1072 0.000000000001

h) ©.002 ram =-0.,002L9

lx\o‘gj = 2mg
C) X0 Cmeter = I

3
Jd) 30 006 Seconal s = 30X10S =30kS

2. Write each of the following in scientific notation (without using prefixes)
(a)40pwW (b)d4ns (c)3MW (d)25km

s ~6¢l _5
ay Yoxio w- Yx (0 = 4Klo W

b) 4 X100 s
<) 3IMW = 3)(\06\1\}

3 9
d) 25£m — 25X10m = 25XI10 m



L S S

ile=1.609
3. Convert a speed of 10 km/h to mi/h. Imile=1.60% Ken

O km — (@) M. = £.215 rait /Ly
I .60 W

4. Knowing that one gallon =231 in® and 1in = 2.54 cm, then the Volume of 5 gallons of water
equals incm?to:

lgahlon = 23\ in®

NN

Sﬁa”oy\ rn-" Cyn’ '\\'f\ = 2.5UCwn

5Xx23) X 16:381L 1in® 2-5‘13%3

Crm>
7

5. Given 1in = 2.54 cm The volume of an object is21 cm?3| then its volume in in3 is:

\ = 2.GU Cw
/_\ 3 N
(2.\ OVV\3 ('ng

i\'nS: 2-5‘43 m>
2\ _\.28)in°

16 38T+ iin3 = \€. 3¢7 OW\?



6. Complete the following: (a) 100 yd =............ m (b) 60 mi/h =................. ft/s

2 \OOYA — VAl \ycl:: O.q\Y1 ™
\OO X 0.4\ — - UMYy
W) Go :m'-/lm = 79(:/5' Im-le. = 52 g6 ¢

60 . — 6645230 ft

——

o a 1 x3€0o g

32 fys

I

6. Complete the following: (a) 100 yd =............ m (b) 60 mi/h=............... ft/s






